
1. A)  There is 57 pence.   B) There is 8 pence. 

      There is 5 pounds.    There is 7 pounds. 

      There is £5 and 57p    There is £7 and 8p 

      There is £5.57    There is £7.08 

 

2. A) = 25p B) =  £20 and 75p  C) = £13.06 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Challenge: 

£3.57  £3.07  £0.57  £3.70 

Super dooper challenge: 

Rosie is correct.  1206p is equivalent to £12.06p.  Whitney forgot the place holder, £12.6 is 

equivalent to 12 pounds and 60 pence.  Teddy put the decimal point in the wrong place and 

has ended up with 120 pounds and 6 pence. 


